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Slotted ALOHA

v' Divide the time into slots of Tfr seconds

v Force the station to send only at the beginning of
the time slot.

v Of course, there is still the possibility of collision if
two stations try to send at the beginning of the
same time slot.

v' However, the vulnerable time is now reduced to
one-half, equal to Tfr




Frames In Slotted ALOHA
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Vulnerable Time for Slotted ALOHA
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Throughput for Slotted ALOHA

v' Throughput for the Pure ALOHAIsS=G x e -G

v' The maximum throughput Smax = 0.368 when G =1
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